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𝑣 𝑡 ൌ 𝑖 𝑡 𝑅

𝑣 𝑡 ൌ 𝐿
𝑑𝑖
𝑑𝑡

𝑖 𝑡 ൌ 𝐶
𝑑𝑣
𝑑𝑡

Time Domain Phasor Domain



𝑣ଵ 𝑡 ൌ 𝐿ଵ
𝑑𝑖ଵ
𝑑𝑡 ൅ 𝑀

𝑑𝑖ଶ
𝑑𝑡

𝑣ଶ 𝑡 ൌ 𝑀
𝑑𝑖ଵ
𝑑𝑡 ൅𝐿ଶ

𝑑𝑖ଶ
𝑑𝑡

Time Domain Phasor Domain

𝑣ଵ 𝑡
𝑁ଵ

ൌ
𝑣ଶ 𝑡
𝑁ଶ

𝑁ଵ𝑖ଵ 𝑡 ൅ 𝑁ଶ𝑖ଶ 𝑡 ൌ 0



Impedance



Phasor Circuit Analysis
Circuit

Solution

Transformed 
Circuit

Transformed 
Solution

Transform

Inverse
Transform

Sy
st
em

 o
f 

O
DE

s

Sy
st
em

 o
f 

Al
ge
br
ai
c E

Q
s



Example Problem
Find vL(t) for vs(t) = 170cos(2π60t) and for Rs = 10 Ω, 
N = 0.1, and RL =  50 Ω




